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Question Id : 68634040716 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 68634040717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634040718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160806. 2
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Question Number : 3 Question Id : 68634040719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 YA fRU T B U YT A% F0H [9Red § l GO 9HS &R R & EUH 5

ST A . UH 7 TSl GUs, JH T 81e fa@m|
IS U] Sife &d. T 62 o o] |

PRUIR: TS & 3R A 98 & T0HE g | % FRaR 30+ sy o 707 &1 9@ o 31 oY R, gt ®
amn%m%?g%ﬁhﬁﬂ%ﬁﬁmﬁﬁﬁmﬁwﬁﬂmﬁ%

IR HY- o el H, -id & U fasedl § 4 9ad Iudd IR &1 99 Hifel:
1. A SRR EH 9@ § 3R R. A D! UGl RS 8
2. A SRR EH 9d € SRR A DI J6! AT 61 ©

3.A g ¢ Al R 3T ©

4. A IS APTIRITE

Options :
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Question Number : 4 Question Id : 68634040720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340160815. 3
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Question Number : 5 Question Id : 68634040721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340160818. 2
686340160819. 3
686340160820. 4



Question Id : 68634040716 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634040717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634040718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634040719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634040720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634040721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2



Sub-Section Id : 6863401341
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634040722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160821. 1

686340160822. 2

686340160823. 3
686340160824. 4

Question Number : 6 Question Id : 68634040722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340160822. 2

686340160823. 3
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Question Number : 7 Question Id : 68634040723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634040723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634040724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160829. 1
686340160830. 2
686340160831. 3
686340160832. 4

Question Number : 8 Question Id : 68634040724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160829. 1
686340160830. 2
686340160831. 3
686340160832. 4

Question Number : 9 Question Id : 68634040725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 68634040725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634040726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafaed o 3 g a7 fafd S
1. g fyeTs @1 arfl g@H B
. gue Ffsar I5=e1 &t 4
TR G W TE e B
4. 1Y Y faT gidl 5

[ ]

L#%]

Options :

686340160837. 1
686340160838. 2
686340160839. 3
686340160840. 4

Question Number : 10 Question Id : 68634040726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160837. 1
686340160838. 2
686340160839. 3
686340160840. 4

Question Number : 11 Question Id : 68634040727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160841. 1
686340160842. 2
686340160843. 3
686340160844. 4

Question Number : 11 Question Id : 68634040727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634040728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160845. 1
686340160846. 2
686340160847. 3
686340160848. 4

Question Number : 12 Question Id : 68634040728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340160847. 3
686340160848. 4

Question Number : 13 Question Id : 68634040729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160849. 1
686340160850. 2
686340160851. 3
686340160852. 4

Question Number : 13 Question Id : 68634040729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634040730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634040730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634040731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634040731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634040732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 3T 70 ST BT SERU $Rd gU &l sy =1 iR 1 €1 e g

FYT : TR Uiay[ad] & a9 & SR &1 S1i@H 511 5. Fa9 3 4 Ugd 39 Ho% Jae®R a1 Uuie
4 el B

frepd 1 : {5l &1 ufqufcal o Faw 981 s aigu|
11 : F9Y Tae® R aoiR Siikad AT Afdd U T Hd 2

UM HEE 1 3 Fepd &7 TR0 B2 6T & TgaH BT

1. de] I SAHIU DIdl %l

2. %ad I TR HRaAl 5|
3. Q1 3R 11 SRR Rl o
A, ATAIT AT STER01 Al 6|
Options :
686340160861. 1
686340160862. 2
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Question Number : 16 Question Id : 68634040732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 17 Question Id : 68634040733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160865. 1
686340160866. 2
686340160867. 3
686340160868. 4

Question Number : 17 Question Id : 68634040733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 18 Question Id : 68634040734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s Ffgdpedad. afd 2=5.4=18.6=39 . A9 10="

Options :



686340160869. 1
686340160870. 2
686340160871. 3
686340160872. 4

Question Number : 18 Question Id : 68634040734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 19 Question Id : 68634040735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340160874. 2
686340160875. 3
686340160876. 4

Question Number : 19 Question Id : 68634040735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634040736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634040736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3MTOPT T 6 FdaR 1983 B 53T YT 51 U AR YT, A1 1984 T TS SHIa TS & 9 &
qaT?

1. FHAR

[ )

. §YAR
-

4. YFPAR

Options :

686340160877. 1
686340160878. 2
686340160879. 3
686340160880. 4

Question Number : 21 Question Id : 68634040737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl & 39 ¢l & uRe: ukymor ©1 3rafe & gar Seafig 3afd are Iuie &l GIRTIG ]

1. {dld SuTE
W 3udg
Y- QP IUUE
4. YT (INSAT)

Options :

686340160881. 1
686340160882. 2
686340160883. 3
686340160884. 4

[ ]

Lad

Question Number : 21 Question Id : 68634040737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt % o0 4 & IR ARy B 3afd F g waffy e are SuE @6 Fel gl
1. Ydi 3udg

2. fcies IuTE

3. Y- s I

4. 3UC (INSAT)
Options :

686340160881. 1
686340160882. 2
686340160883. 3
686340160884. 4

Question Number : 22 Question Id : 68634040738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 1 g 11 ¥ [aH Sifey
LIST I LISTII
TEgHIaT ST T
A, [Ec@! 1 ERids
B. [Esa®! 11 [@iREl
C. [4reia TegHEiTgE St 111 [PRIGE
D. Hie! v fq@e
ool faedd d U U8t 3w &1 90 S -

1. A-III, B-1. C-IV. D-II
2. A-IL B-IV, C-L. D-I1I
3. A-TIL B-IV. C-I. D-1I
4. A-II. B-1. C-IV. D-III

Options :

686340160885. 1
686340160886. 2
686340160887. 3
686340160888. 4

Question Number : 22 Question Id : 68634040738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

LIST I LISTII
TR a" $U=T T

A [ETc® I BRSPS

B. B! 11 [®Ral

C. [HRdE Tegdi=gE St 111 [@RIYE

D. e V. Rq@e

FEfeRad fasedi 4 98 IR &1 99 DI -

1. A-IIIL, B-1. C-IV. D-II

| )

CA-TL B-IV. C-1, D-II1
3. AL BIV,. C-1. D-II
4. A-II. B-1. C-IV. D111

Options :

686340160885. 1
686340160886. 2
686340160887. 3
686340160888. 4

Question Number : 23 Question Id : 68634040739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DR (31218) IS D U Yo Dl die U A+ 3R 370 GIR T DI icH o o (oY g Tdbdl gl
g5 YAl " ¥4 8§ 51 oIl 5

1. RIPER
.8 gfega

US-d18
4. g IR gHYT

Options :

686340160889. 1
686340160890. 2
686340160891. 3
686340160892. 4

| )

%]

Question Number : 23 Question Id : 68634040739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PR (3e08) TG & UF U & dia U AP 3R 30 8L Taw Bl 9 o & [T g adl
gg e &9 30 8 S 9l 2

1. RIPER
.98 aRkadq
B8

4. ged U JHYU]

[

L¥%]

Options :

686340160889. 1
686340160890. 2
686340160891. 3
686340160892. 4

Question Number : 24 Question Id : 68634040740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 =t 11 ¥ e S

I 11
A o TS L [irore g TR
B. RH$WI {3 I1. [T4. TH Sl
C. [gde ofiw g0 gasel 111 [earHe g3 d]
D. [gr=re gfa™ T 1v. [l [qadrs
foferiad faeedl o T 9gl 3ok &l 999 Hifolt :

1. A-IIL, B-IV, C-I1. D-1

[ ]

AL B-IV. C-1, D-1
3.A-IV. B-IIL C-1, D-II
4. A-II, B-IV, C-1, D-111

Options :

686340160893. 1
686340160894. 2
686340160895. 3
686340160896. 4

Question Number : 24 Question Id : 68634040740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

I 1
UTﬁ£§§:HqﬂFT q;ggzqiﬁ
A | gare L [fTiaTel gwn Ta
B. RGP 4 11 [g_ge S
C [gde A% 350 Gigrsel 111 [caric 93!
D. [grere gidg & Iv. [ [qa@rs
fFafaiRad f[deedi § U Ug] 3R &1 99 Difold -

1. A-TI1, B-IV, C-11, D-1

| ]

AL B-IV, C-1 D-T1
3. A-IV.B-II C-1. D-II
4. A-IL B-IV, C-L. D-I1I

Options :

686340160893. 1
686340160894. 2
686340160895. 3
686340160896. 4

Question Number : 25 Question Id : 68634040741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YehY a1 Sl BT bx foh e ¥U H &I Sl §
1. Yhq o
2. 7 (PI)

& 5
4. Hftp=

Options :

686340160897. 1
686340160898. 2
686340160899. 3
686340160900. 4

Question Number : 25 Question Id : 68634040741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@Y T ST &1 s [ o9 H o1 oIl ©

1. HebY i
2. 7 (PIF)
. .
4. A=

Options :

686340160897. 1

686340160898. 2

686340160899. 3
686340160900. 4

Part B: B Ed Humanities and Social Sciences

Section Id : 686340802
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401342
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634040742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following government activities is motivated by a concern about equality ?

1. regulating movie ticket prices

| ]

. providing ration to people living below poverty line
3. prohibiting smoking i public places
4. Imposing higher personal income tax rates on people with higher incomes

Options :

686340160901. 1
686340160902. 2
686340160903. 3
686340160904. 4



Question Number : 26 Question Id : 68634040742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[Fafeiad ¥ O oH-dt e ifafafemt e fawae fHar grr siftmia g2
1. 4di fede sindi o1 fafag 31
 TRId! T @ = T8 ardd T B IR Te H
dSHS Rl IR YHaE FEY S
4. 3% 31T ared AT OR TS AT STIBR Bl &3 AN DA

| )

%]

Options :

686340160901. 1
686340160902. 2
686340160903. 3
686340160904. 4

Question Number : 27 Question Id : 68634040743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A teacher took the students on an excursion to "Breakfast and Honeymoon" islands and then to town called
'Zero'. Which states did they visit ?

1. Odisha and Arunachal Pradesh

| B

. West Bengal and Bihar
3. Tamil Nadu and Kerala

4. Uttar Pradesh and Odisha

Options :

686340160905. 1
686340160906. 2
686340160907 3
686340160908. 4

Question Number : 27 Question Id : 68634040743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[

eI 3R R

4. TR USRI 3R 3ifa=m
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Options :

686340160905. 1
686340160906. 2
686340160907. 3
686340160908. 4

Question Number : 28 Question Id : 68634040744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which clouds are also called Sheep clouds or wool pack clouds ?

1. Alto-cumulus clouds

| ]

. Cumulus-nimbus
3. Stratus

4. Cirrus

Options :

686340160909. 1
686340160910. 2
686340160911. 3
686340160912. 4

Question Number : 28 Question Id : 68634040744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5T aed &1 'Us 9I5a O1 'S4 Uar g1gd i deromare
1. 70 HURI 915
2. PURH IR graa
3. IRl aed

4. &Y dTEd

Options :



686340160909. 1
686340160910. 2
686340160911. 3
686340160912. 4

Question Number : 29 Question Id : 68634040745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The concept of "New determinism" was put forward by

1. Griffith Taylor

| ]

. Toynbee
3. GK. Gips

4. S K. Taylor

Options :

686340160913. 1
686340160914. 2
686340160915. 3
686340160916. 4

Question Number : 29 Question Id : 68634040745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7 Frafiae Risia @l __ % gri vt R

1. Py 2R
2. Tlgl
3. 5l ey
4.0 &, TR

Options :

686340160913. 1

686340160914. 2

686340160915. 3
686340160916. 4

Question Number : 30 Question Id : 68634040746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A teacher should emphasis on :

1. Rote memorization

[

. Passive listening by learners in the classroom

3. Line by line reading from the book and complete the chapter without explanation

e

. Activity based learning with intermitten discussions.
Options :

686340160917. 1

686340160918. 2

686340160919. 3
686340160920. 4

Question Number : 30 Question Id : 68634040746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U 18 &1 58 R 3@ SR 3 e
1. € PR UG A
2. D& ¥ faemdf gRI 29 yau
3. TopaTa T TS 12 B 9gA1 SR 41 SOReAT & U1 &1 g Al
4, TaRTorgu] uR=aisi & wry Tiafafy srenia sieaas

Options :

686340160917. 1
686340160918. 2
686340160919. 3
686340160920. 4

Question Number : 31 Question Id : 68634040747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The three aspect of staffing are:

1. Application, Appomtment. Awareness

| B

. Advertisement. Application. Selection
3. Recruitment. Selection and Traning
4. Interview. Selection and Retirement

Options :
686340160921. 1



686340160922. 2
686340160923. 3
686340160924. 4

Question Number : 31 Question Id : 68634040747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frfae & dH Teg B -
1. e, Fgfd SRl

[ )

L¥%]

| ST e

4. &R =0 IR Jar-af

Options :

686340160921. 1
686340160922. 2
686340160923. 3
686340160924. 4

Question Number : 32 Question Id : 68634040748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Kothari commission suggested that this which percent of GDP must be spent on education?

1. Twenty five

[

. Ten
3. Fifteen
4. Six

Options :

686340160925. 1
686340160926. 2
686340160927. 3
686340160928. 4

Question Number : 32 Question Id : 68634040748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160925. 1
686340160926. 2
686340160927. 3
686340160928. 4

Question Number : 33 Question Id : 68634040749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

This amandment provided the constitutional status to the Panchayati Raj institutions :

1. 92ﬂd amendment

| ]

. 515" amendment
3. ?Srd amendment

4. 428 amendment
Options :
686340160929. 1
686340160930. 2

686340160931. 3
686340160932. 4

Question Number : 33 Question Id : 68634040749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT ISy ST Pl AU @ goll | HRITe W g
1. 027 Al
519 ggiteA
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[



Options :

686340160929. 1
686340160930. 2
686340160931. 3
686340160932. 4

Question Number : 34 Question Id : 68634040750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chandrakanta was written by
1. Devki Nandan Khatri
2. Hazari Prasad Diwedi
3. Chandra Prakash Diwedi
4. Sumitra Nandan Pant
Options :
686340160933. 1
686340160934. 2

686340160935. 3
686340160936. 4

Question Number : 34 Question Id : 68634040750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
il e gRI feredt 77 ot 2

P! e Tl

R e feddt

I HpTY fgadl

Options :

686340160933. 1

686340160934. 2

686340160935. 3
686340160936. 4

[a—y

[

L]

=S

Question Number : 35 Question Id : 68634040751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The total number of elected member of parliament in Lok Sabha is :

1. 543

[ )
L
uh
L==)

4. 538

Options :

686340160937. 1
686340160938. 2
686340160939. 3
686340160940. 4

Question Number : 35 Question Id : 68634040751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dis 41§ 3 foaa Faffaa dae gemga g

1. 543

b2
n
L
=

4,538

Options :

686340160937. 1
686340160938. 2
686340160939. 3
686340160940. 4

Question Number : 36 Question Id : 68634040752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Post 1971. the Shimla Agreement was signed by
1. Indira Gandhi-Zia-ul-Haq
2. Indira Gandhi-Zulfikar Ali Bhutto
3. Rajiv Gandhi-Benazir Bhutto
4, Jawaharlal Nehru - MLA. Jinnah
Options :

686340160941. 1
686340160942. 2



686340160943. 3
686340160944. 4

Question Number : 36 Question Id : 68634040752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1071 & oY H . RHa 99 R s5eR feg mu 9.
1. SfaRy Tl - ga s
gfeRT el -fetpep R arell Ygl

XToiTg T -geiR YT

[
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Options :

686340160941. 1
686340160942. 2
686340160943. 3
686340160944. 4

Question Number : 37 Question Id : 68634040753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who coined the term Dalit’ 7

1. Mahatma Gandhi

-

. Kanshiram
3.B. R. Ambedkar

4. Jyotiba Phule

Options :

686340160945. 1
686340160946. 2
686340160947. 3
686340160948. 4

Question Number : 37 Question Id : 68634040753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S ford e [+ fear 2
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Options :
686340160945. 1
686340160946. 2

686340160947. 3
686340160948. 4

Question Number : 38 Question Id : 68634040754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The first Education Minister of India was:

1. Zakir Hussain

| ]

.B. R. Ambedkar
3. Maulana Abul Kalam Azad
4. Shyama Prasad Mukharji
Options :
686340160949. 1
686340160950. 2

686340160951. 3
686340160952. 4

Question Number : 38 Question Id : 68634040754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR P JyT FRUan w1 4 -
1. SR g4
2. & 3R TP
3. AT Sgd Py g
4. TTHI 1 gEsl |

Options :



686340160949. 1
686340160950. 2
686340160951. 3
686340160952. 4

Question Number : 39 Question Id : 68634040755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The sales volume at which there is no profit. no loss 1s known as :

1. Mid point

| S

. Breakeven point

L N]

. Profit point
4. Loss point

Options :

686340160953. 1
686340160954. 2
686340160955. 3
686340160956. 4

Question Number : 39 Question Id : 68634040755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faspa @ g HHET fore TR Pig 14 I1 81 76! 8Idl & ST Tl 6-
g fdg

-y fdg
. ary feig
w g

Options :

686340160953. 1
686340160954. 2
686340160955. 3
686340160956. 4
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Question Number : 40 Question Id : 68634040756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concepts of "Primate City" was given by

1. Jean Gottman

| ]

. Mark Jefferson

faa

.G.K. Zipt

4. Mark Dudley
Options :
636340160957. 1
686340160958. 2

686340160959. 3
686340160960. 4

Question Number : 40 Question Id : 68634040756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wrgHe Rt &1 Risid foae gri fear mar ur -
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Options :

686340160957. 1
686340160958. 2
686340160959. 3
686340160960. 4

Question Number : 41 Question Id : 68634040757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statement is not correct?

1. Topical deciduous forests are also called Monsoon forest

| B

. The thorny forest are found in north-western part of India
3. Mangrove forests are found in the area of coasts influenced by tides
4. Shisham. Sandalwood. Kusum and Arjun species of trees found in thorny mountainous forest

Options :
686340160961. 1



686340160962. 2
686340160963. 3
686340160964. 4

Question Number : 41 Question Id : 68634040757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160961. 1
686340160962. 2
686340160963. 3
686340160964. 4

Question Number : 42 Question Id : 68634040758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which management function, assignment of duties, grouping of tasks. establishing authority and allocating
resources are required to carry out a specific plan ?

1. Planning

| B

. Organizing
3. Staffing
4. Controlling

Options :

686340160965. 1
686340160966. 2
686340160967. 3
686340160968. 4

Question Number : 42 Question Id : 68634040758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160965. 1
686340160966. 2
686340160967 3
686340160968. 4
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Question Number : 43 Question Id : 68634040759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is not a contractualist theorist?
1. Hobbes
2. Locke

3. Rousseau

4. Machiavelli

Options :

686340160969. 1
686340160970. 2
686340160971. 3
686340160972. 4

Question Number : 43 Question Id : 68634040759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFefafed § ¥ o 1 Ue dfieas fgiqad 78l 8
1. Bleg
2. AP
3. =41
4. Bfamast

Options :



686340160969. 1
686340160970. 2
686340160971. 3
686340160972. 4

Question Number : 44 Question Id : 68634040760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which three states were formed in 1972 7

1. Meghalaya. Nagaland and Assam

-

. Meghalaya. Mizoram and Arunachal Pradesh
3. Assam. Meghalaya and Nagaland
4. Meghalaya. Manipur and Tripura

Options :

686340160973. 1
686340160974. 2
686340160975. 3
686340160976. 4

Question Number : 44 Question Id : 68634040760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1972 H a1 i1 w1 1 76 g3 UT 2
1. HUTeTd, RS 3R 3G9
2. HYTe, fHoiRE 3R SRUITEe Hagl
3. 39, HUY 3R NS

+. TftTgR, BT SR By

Options :

686340160973. 1
686340160974. 2
686340160975. 3
686340160976. 4

Question Number : 45 Question Id : 68634040761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2

The Discovery of India written by Jawaharlal Nehru and televised as Bharat:Ek Khoj was directed by

1. Ritwik Ghatak

d

2. Shyam Benegal
3. Amol Palekar

4. Kaifi Azini

Options :

686340160977. 1
686340160978. 2
686340160979. 3
686340160980. 4

Question Number : 45 Question Id : 68634040761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ETp ol T S8 » TaTer aTd ~6% gRI fordl 715 3R YRA:UH @ " & ¥9 8 YgIid &1 715
U@ (3w faoar Ul -

1. Bld® gop
2. g §Td
3. S{HIT UTdH
4. BT o

Options :

686340160977. 1
686340160978. 2
686340160979. 3
686340160980. 4

Question Number : 46 Question Id : 68634040762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not caused by a deficiency of Vitamin A in the body ?

1. Colour blindness

| ]

. Lowered resistance to infection
3. Adverse effect on growth
4. Paleness of conjuctiva of the eyes

Options :



686340160981. 1
686340160982. 2
686340160983. 3
686340160984. 4

Question Number : 46 Question Id : 68634040762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaffET I e A PR IRR A e AS I sa STl slaig 2
1. QUM
g domu uidRly®

| )

LF% ]

. gf R ufdpd yuE
4. =9 Dt 77 WI™g &1 giaa

Options :

686340160981. 1
686340160982. 2
686340160983. 3
686340160984. 4

Question Number : 47 Question Id : 68634040763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All men are mortal. Navneet is a man. Therefore Navneet is mortal. This logical reasoning is an example of:

1. Induetive Logic

2=

. Deductive Logic

Lad

. Abstract Logic
4, General Logic

Options :

686340160985. 1
686340160986. 2
686340160987. 3
686340160988. 4

Question Number : 47 Question Id : 68634040763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340160985. 1
686340160986. 2
686340160987. 3
686340160988. 4

Question Number : 48 Question Id : 68634040764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who was the first speaker of the Indian Parliament ?
1. Baliram Bhagat
2. K.S. Hedge
3. Ganesh Vasudev Mavlankar
4. Sardar Hukum Singh
Options :
686340160989. 1
686340160990. 2

686340160991. 3
686340160992. 4

Question Number : 48 Question Id : 68634040764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR THa o UYH <l FHT 3eha DI A2
1. SfeRH 1T
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 TT0TY] e d HIGTa

| ]

L]
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Options :

686340160989. 1
686340160990. 2
686340160991. 3
686340160992. 4

Question Number : 49 Question Id : 68634040765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Council for Teacher Education (NCTE) was established in the year:

1. 1963

2

. 1983
3.1095
4, 2014
Options :
686340160993. 1
686340160994. 2

686340160995. 3
686340160996. 4

Question Number : 49 Question Id : 68634040765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P ST &M UREE (NCTE)®! IO foog o g i 2

1. 1963

|

. 1983
3. 1995
4. 2014

Options :

686340160993. 1
686340160994. 2
686340160995. 3
686340160996. 4

Question Number : 50 Question Id : 68634040766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The slogan for enhancing tourism in India 1s:

1. Adhyatwik Bharat

| ]

. Atulya Bharat
3. Aao Bharat

4. Adhunik Bharat

Options :

686340160997 1
686340160998. 2
686340160999. 3
686340161000. 4

Question Number : 50 Question Id : 68634040766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA H Wie &I 9g1al &, 8 &Y (ART) -
1. ST HRA

. 3qed HRd
3. 313 URd

4. 31YfP URd

Options :

686340160997 1
686340160998. 2
686340160999. 3
686340161000. 4

2

Question Number : 51 Question Id : 68634040767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Archeological survey of India was established in the year
1. 1861
2. 1951
3.1961
4. 1981

Options :
686340161001. 1



686340161002. 2
686340161003. 3
686340161004. 4

Question Number : 51 Question Id : 68634040767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRATE GRIc FA&T [qURT S RITIT b a8 g5 i 2

1. 1861

-J

: 1951
3.1961

4. 1981

Options :

686340161001. 1
686340161002. 2
686340161003. 3
686340161004. 4

Question Number : 52 Question Id : 68634040768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who chaired the committee for National Education Policy 20207

1. Smriti Iram
2. Dinanath Batra
3. Atul Kothari
4. K. Kasturirangan

Options :

686340161005. 1

686340161006. 2

686340161007. 3
686340161008. 4

Question Number : 52 Question Id : 68634040768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161005. 1
686340161006. 2
686340161007. 3
686340161008. 4

Question Number : 53 Question Id : 68634040769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five rivers contribute to the idea of Punjab. Which river amongst the following is not the part of Indus river
system 7

1. JThelum

[ )

. Ghagra
3. Rawvi

4. Sutlej

Options :

686340161009. 1
686340161010. 2
686340161011. 3
686340161012. 4

Question Number : 53 Question Id : 68634040769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161009. 1
686340161010. 2
686340161011. 3
686340161012. 4

Question Number : 54 Question Id : 68634040770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The sunisa:
1. Planet
2. Meteor
3. Star
4. Asteroid
Options :
686340161013. 1
686340161014. 2

686340161015. 3
686340161016. 4

Question Number : 54 Question Id : 68634040770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161013. 1
686340161014. 2
686340161015. 3
686340161016. 4

Question Number : 55 Question Id : 68634040771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who amongst the following is known as Father of General Management'?

1. Taylor

-

. Weber
3. Fayol

4. Smith

Options :

686340161017. 1
686340161018. 2
686340161019. 3
686340161020. 4

Question Number : 55 Question Id : 68634040771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad O 9 fod =y yay= o1 W+ e S8l Sl 6 2
1. ¢
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4. Ry

Options :

686340161017. 1
686340161018. 2
686340161019. 3
686340161020. 4

[

L]

Question Number : 56 Question Id : 68634040772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The economic reforms introduced in 1991, signalling the end of licence-permit quota raj is :

1. Privatization

| ]

. Globalization
3. Marketization

4. Liberalization

Options :

686340161021. 1
686340161022. 2
686340161023. 3
686340161024. 4

Question Number : 56 Question Id : 68634040772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1991 ¥ 3{1ies JURI 1 Wlciura- gl 5oy AIgd WIHT BIeT A P 3id g3 (U8 -
1. iR

2. asfipRm
3. GOIRIBRUI

4. FERIHI0

Options :

686340161021. 1
686340161022. 2
686340161023. 3
686340161024. 4

Question Number : 57 Question Id : 68634040773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The call for 'Total Revolution' was given by

1. Bhagat Singh

-

. Jai Prakash Narayan
3. Ram Manohar Lohia

4, Anna Hazare

Options :
686340161025. 1



686340161026. 2
686340161027. 3
686340161028. 4

Question Number : 57 Question Id : 68634040773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"G SHif T B0 faree i ot 2
1. 4Td 88
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3. {9 TR difedr
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Options :

686340161025. 1
686340161026. 2
686340161027. 3
686340161028. 4

Question Number : 58 Question Id : 68634040774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Name the original state from which the state of Jharkhand is coined out:

1. Andhra Pradesh
2. Madhya Pradesh
3. Bihar
4. Chattisgarh

Options :

686340161029. 1

686340161030. 2

686340161031. 3
686340161032. 4

Question Number : 58 Question Id : 68634040774 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161029. 1
686340161030. 2
686340161031. 3
686340161032. 4

Question Number : 59 Question Id : 68634040775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who said that "The British Rule was a bleeding drain from India"?

1. M.G. Ranade

| S

.B.C. Pal

3. R.D. Dutta

4. Dadabhai Naoroji
Options :
686340161033. 1
686340161034. 2

686340161035. 3
686340161036. 4

Question Number : 59 Question Id : 68634040775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e e ST T 3l R HIRd &1 A1fde Mur &3 8T 412
1. TS IS
2. &1 U
3. AR &
4. ETHTS RIS

Options :



686340161033. 1
686340161034. 2
686340161035. 3
686340161036. 4

Question Number : 60 Question Id : 68634040776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year did the Nawab of Awadh sign on the Subsidiary Treaty?

1. 1800

| S

. 1801
3. 1802
4. 1803

Options :

686340161037.
686340161038.
686340161039.
686340161040.

AW N =

Question Number : 60 Question Id : 68634040776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g oy 3@y & 919 3 I8P IfY IR gL feae

1. 1800

|

. 1801
3. 1802

4. 1803

Options :

686340161037.
686340161038.
686340161039.
686340161040.

A W N =

Question Number : 61 Question Id : 68634040777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Battle of Panipat between Ibrahim Lodhi and Babar was held in

1. 1530

[ )
iy
h
)
h

4. 1540

Options :

686340161041. 1
686340161042. 2
686340161043. 3
686340161044. 4

Question Number : 61 Question Id : 68634040777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gellfed oidlt 3R aTeR & &9 Uriiud &1 g g1 ol -

1. 1530

[
ol
L
| ]
[

3. 1536
4, 1540

Options :

686340161041.
686340161042.
686340161043.
686340161044.

B N R S

Question Number : 62 Question Id : 68634040778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Major aluminium smelting plants are located in:
1. Odisha. West Bengal, Kerala and Uttar Pradesh
2. Punjab. Rajasthan, Haryana and Assam
3. Karnataka. JTharkhand. Bihar and Rajasthan
4. Punjab. Tripura, Telangana and Mizoram
Options :

686340161045. 1
686340161046. 2



686340161047. 3
686340161048. 4

Question Number : 62 Question Id : 68634040778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161045. 1
686340161046. 2
686340161047. 3
686340161048. 4

Question Number : 63 Question Id : 68634040779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Adam Smith's "Invisible hand" refers to
1. the hidden methods that businesses uses to profit at consumers' expense
2. markets have the freedom to reach desirable outcomes.

3. The government regulation has the ability to benefit all consumers. eventhough the consumers are not
aware of the regulations.

4. By pursing his own interest an individual frequently promotes that of the society more effectual than
when he really intends to promote it.

Options :

686340161049. 1
686340161050. 2
686340161051. 3
686340161052. 4

Question Number : 63 Question Id : 68634040779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161049. 1
686340161050. 2
686340161051. 3
686340161052. 4

Question Number : 64 Question Id : 68634040780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All teacher training programmes have to take approval from

1. NCTE

[

. NCERT
3. CBSE
4. NIDS
Options :
686340161053. 1
686340161054. 2

686340161055. 3
686340161056. 4

Question Number : 64 Question Id : 68634040780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. NCTE

b2

. NCERT

3. CBSE

4, NIDS



Options :

686340161053. 1
686340161054. 2
686340161055. 3
686340161056. 4

Question Number : 65 Question Id : 68634040781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Banaras Hindu University was founded by:
1. Madan Mohan Malviya
2. Deen Dayal Upadhyay
3. Maharaj Sayaji Rao
4. G.V. Mavlankar

Options :

686340161057. 1
686340161058. 2
686340161059. 3
686340161060. 4

Question Number : 65 Question Id : 68634040781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIRY g fagfaenaa &1 =g feas R &1 71 A
1. e Higd Hradiy
. dreard g
. HERTS AR
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Options :

686340161057. 1
686340161058. 2
686340161059. 3
686340161060. 4

Question Number : 66 Question Id : 68634040782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The Central Government imposes different types tax on income and wealth for example income
tax. corporate tax, wealth tax and gift tax.

Reason R : Agriculture income in India is free from income tax.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2=

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct
4. A 1s not correct but R is correct

Options :

686340161061. 1

686340161062. 2

686340161063. 3
686340161064. 4

Question Number : 66 Question Id : 68634040782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
?ﬁﬁgﬁiﬂmﬂt{% . TP AYDYUT (Assertion A) P U T [Rad § dl GHI 3P PRI (Reason R) B
SSu g
HFUHYT AP=T TWER M 3R FERT R AT TPR & B A & o 31 3mgax 78 o= gmfy
R IR JUBR & |
HRUT R HRd H BT 2T SRR ST ¢ |
SUWRIGd HYHT & 3l H.A1d f3U 7 fabedi # 4 98 Iuged IR &1 98- BHIWIT:
1. A 3R R TF 81 8 3R R. A 1 ¥6| AR &

2. A 3R R SHI I & SRR, A B YEl SR 8l &
3.ATI e AP R T 8

L ATEI RIS APAIR TS

Options :

686340161061. 1
686340161062. 2
686340161063. 3
686340161064. 4




Question Number : 67 Question Id : 68634040783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The relation between the Governor and his minister is similar to that between the President and
his minister.

Reason R: The chief Muster is appointed by the Governor and ministers are appointed by Chief Minister.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R 1s not correct
4. A 1s not correct but R is correct
Options :
686340161065. 1
686340161066. 2

686340161067. 3
686340161068. 4

Question Number : 67 Question Id : 68634040783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIEEAE AT
TP 3MUBUT (Assertion A) & =4 H f1REd g ol TR 3HD HRUT (ReasonR) S &G T
HfHDHYT AToTUT 3R 3 H2Al & &= Sl T Bl & o] 9w AYUfd SR 3a HAl & &< gidl 8

HRU RIE WAl &1 Fgfaa Iog9rd gR1 @1 9ildl ¢ SR JE &t Fgfed iedsl g} $1 9l @
SWRIGd HYHT &b 3l HAH 13U T fabedl 8 I gad Iugad IR &1 907 HIT:
1. A SRR G UGl € 3R R AP Tl AT &

2. A SRR EHI I & 3R R, A B Yel oI el &

3. ATcicdfPIR Tei g ©

4 AR TSI e APIR TE S

Options :
686340161065. 1



686340161066. 2
686340161067. 3
686340161068. 4

Question Number : 68 Question Id : 68634040784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The first girls' school in India was opened by Jyotiba Phule and Savitribai Phule.
Reason R: Pandita Ramabai founded Arya Mahila Samaj.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R 1s not correct
4. A 1s not correct but R is correct
Options :
686340161069. 1
686340161070. 2

686340161071. 3
686340161072. 4

Question Number : 68 Question Id : 68634040784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR P Ry
UH HYBUT (Assertion A) P &Y T [AREd § dl g8 3Hb BRI (Reason R) B &4 1 :
HIHYUT A:URA & Todl aTae! [denerd Saifaal Ho SR difa=! a7 Bl gRT @ral T 4T
BRU R:UTST AT -1 A1 A S0 BT R0 61
QRIS Sy o 3felisd 8.1 fGU 7T g el H 9 Yad 39gead STk &1 90 SIffe:

1. A ¥R R S 98l § SR R. A D! Gl o

2. A 3R R EHI IS & SRR, A B GEl oaRa Ei 8
3. ATE e afeT R OEt e B
LATE TR AP TR TS

Options :



686340161069. 1
686340161070. 2
686340161071. 3
686340161072. 4

Question Number : 69 Question Id : 68634040785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements ; One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Diversification of agriculture includes change in cropping pattern and shifting to other agriculture
allied activities.

Reason R: Diversification does not reduce the risk i agriculture sector. neither does it produce sustainable
livelihood options to rural people.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 18 not the correct explanation of A
3. A1s true but R 1s false

4. A 1s false but B is true

Options :

686340161073. 1
686340161074. 2
686340161075. 3
686340161076. 4

Question Number : 69 Question Id : 68634040785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEE ﬁwﬁ@t{%‘;:
U HYHYT (Assertion J’-’L}a’r{?q ﬁ%@ﬁ%?ﬁmmW{Reason R}fﬁmﬁ:

aﬁmgaﬁ%ﬁ%ﬁwﬁmwﬁwﬁaﬁﬁwwﬁm%ﬁﬁw
NI

SR R fafgefa=u ot &= & T B &1 el Bar o7 8 A an & e Jaq siefifaeT & fde
GroTd AT ¢ |

SWRIGd DU & 3HTelier T A1 fGU U famedl & § 969 Jugad IOk @l 99 BHIU;
1. A 3R R I 98l § SR R. A DI el e &

2. A SRR SHI T € IR R, A P GEl AT el &
3LAGIEAPIR ITTE

4 ANTIEAPIRTI S
Options :
686340161073. 1
686340161074. 2

686340161075. 3
686340161076. 4

Question Number : 70 Question Id : 68634040786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Teacher Training must have a course on philosophy of education.
Reason R: By learning philosophy of education we can be reflective of our classroom practices.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R 1s false
4. A 1s false but R is true
Options :
686340161077. 1
686340161078. 2

686340161079. 3
686340161080. 4



Question Number : 70 Question Id : 68634040786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l P [T IU T : U SIUHYT (Assertion A) & U I (AT & Tl GHRI 3D BRI (Reason R) &
F0H .

HHYT A OIS U0 E 2 IR S U471 IR TS UsuHH a9y g 9iey |

HRUI R G2 YA D R & 31209 GRI. §H U LA D&l & 310 g [aaR=Nd g1 9&d g
QRIFI BYAI & AP H.Ad [T T [dhedi § I Tl 3 &1 94+ HI:

1LAJRREA TSI € AR R A DI TSI AT &

2. A SRR ST I § IR R, A 1 GET AT TR &

3. AT e AT R T B

4. AT APIR IS
Options :
686340161077. 1
686340161078. 2

686340161079. 3
686340161080. 4

Question Number : 71 Question Id : 68634040787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Rajasthan is the largest state in India by area-wise category.
Reason R: Rajasthan is the seventh most populous state of India.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

| B

. Both A and R are true but R is not the correct explanation of A
3. Aistrue but R is false

4. A is false but R is true

Options :

686340161081. 1
686340161082. 2
686340161083. 3
686340161084. 4



Question Number : 71 Question Id : 68634040787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 Bl P2 [T U § : U SIUHYUA (Assertion A) & U T [AI&d & Al GHRI 3HD BRI (Reason R) &
FUH .

HYHYT A: 895 & AR TR A YR & Ia9 §S1 50 ¢ |

HRU BRI YR &1 Irdal Gaiie o-aed aTar sy &
IRIad FYAI & 3diD 3.4 [0 0 [dF el § U ol IR &1 9049 DifaI:

1.AJRREA TSI € 3R R A D TSI TR &

2. A 3R R SHI & & SRR, A 1 GEl SR el &

AU AP R IEA S

4 AT APIRTT R

Options :

686340161081. 1
686340161082. 2
686340161083. 3
686340161084. 4

Question Number : 72 Question Id : 68634040788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: 10+2+3 system was old and colonial in nature.
Reason R: NEP 2020 suggests 5+3+3+4 instead of 10+2+3.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R 1s false
4. A 1s false but R 1s true
Options :
686340161085. 1
686340161086. 2

686340161087. 3
686340161088. 4



Question Number : 72 Question Id : 68634040788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e a‘?ﬂ?ﬁt{ﬂt{%‘“ : WWW[ASS:HMHA}%W ﬁ%ﬁﬁ%?ﬁ@ﬂmW(Reason R]la5
=q4:

HIYSUT A:10+2+3 U AT SR AR Upid o1 20t

HRUTR: NEP 2020 10+2+3.& G0l 5+3+3+4 D1 g4 &all §

SWRIad Pyl & HdID HAH AU T faeadl § ¥ el GwR &1 70 B
1. A SRR GIFI 5! & SR R. A P Ho! IS ©

2. A SRR ST T § IR R, A 1 GEl A TET &

3.ATIE AP R TS

4 AT AfPIR IO D

Options :

686340161085. 1
686340161086. 2
686340161087. 3
686340161088. 4

Question Number : 73 Question Id : 68634040789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chronologically arrange the rule of the following leaders from early to recent time in the soviet Union.

A. Leonid Brezhnev
B. Boris Yelstin

C. Vladimir Lenin
D. Joseph Stalin

Choose the correct answer from the option given below:

1.LACD B

| B

2D B
JJAB.C.D
4.D.B,C.A

Options :

686340161089. 1
686340161090. 2



686340161091. 3
686340161092. 4

Question Number : 73 Question Id : 68634040789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifdad 99 5 - D3 die Hafead Adisi ol SRy T 3id & PIeihH-TIR odaiyd HIf;

A. fomifas soHg
B. SINE ATedra—
C. ®MGHR
D. SE® TIfe

< fau U f[d@edl § I Uel 3wk &1 994 Bl

1. ACDB

| ]

.C.,.D.AB
3 AB.OD
4.D.B.C.A

Options :

686340161089. 1
686340161090. 2
686340161091. 3
686340161092. 4

Question Number : 74 Question Id : 68634040790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in historical chronology

A. Russia-Ukraine war

B. Establishment of UNO

C. Universal Declaration of Human Right
D. Independence of Bangladesh

E. Adoption of Indian Constitution.

Choose the correct answer from the options given below:

1. C-D-E-B-A

[

.B-D-A-E-C

L%

. D-E-C-B-A
4. B-C-E-D-A

Options :
686340161093. 1



686340161094. 2
686340161095. 3
686340161096. 4

Question Number : 74 Question Id : 68634040790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiad &1 Uideie S1arsy ¥ sgafiyd Hifoy

A THTHTIE
B. UNO &1 RG]

C. HHaY®R & grayifae g
D. SIS & WAl
E. YR g dfaem &1 sfrftexur

-2 feu T foweul O 9 el SR &1 994 Sifog

1. C-D-E-B-A

[ ]

.B-D-A-E-C

L]

.D-E-C-B-A
4. B-C-E-D-A

Options :

686340161093. 1
686340161094. 2
686340161095. 3
686340161096. 4

Question Number : 75 Question Id : 68634040791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in the order of distance from sun :

A. Jupiter
B. Mercury
C. Earth

D. Venus
E. Mars

Choose the correct answer from the options given below:

1. B-C-E-A-D

[ )

. C-D-A-E-B

%]

.B-D-C-E-A

4 C-A-E-B-D



Options :

686340161097. 1
686340161098. 2
686340161099. 3
686340161100. 4

Question Number : 75 Question Id : 68634040791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 9 T F YR IR GoIaryd difog

A. ggufd

B. 9%
C. gt

D. X[
E. OTd
< feu U f[a@edl § I Uel 3tk &1 994 By

1. B-C-E-A-D

| ]

. C-D-A-E-B

Lad

.B-D-C-E-A
4, C-A-E-B-D

Options :

686340161097. 1
686340161098. 2
686340161099. 3
686340161100. 4

Question Number : 76 Question Id : 68634040792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the human evolution in chronological order:

A Cromagnon

B. Australopithecus Africanus

C. Homo Erectus/Pithecanthoropus
D. Homosapiens Neanderthal

Choose the correct answer from the options given below:

1. C-B-D-A
2.D-C-B-A
3. A-B-C-D
4. B-C-D-A

Options :

686340161101. 1

686340161102. 2

686340161103. 3
686340161104. 4

Question Number : 76 Question Id : 68634040792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0H4d & $Hi0E fahry & DIIh YR sHafydHiig

A. BTN

B. AR AUy HsheTg
C. B! 3de T/ fUUd-gg
D. e YT Fusyd

- fau e fawredl o ¥ 9El SR @1 90 Sifor

1.C-B-D-A

2. D-C-B-A
3. A-B-C-D
4 B-C-D-A

Options :

686340161101. 1
686340161102. 2
686340161103. 3
686340161104. 4

Question Number : 77 Question Id : 68634040793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order:

A. Khilji Dynasty
B. Lodi Dynasty

C. Tughlaq Dynasty
D. Slave dynasty

E. Mughal dynasty

Choose the correct answer from the options given below:

1. D-A-C-B-E

3=

. C-D-B-A-E
3. E-B-A-D-C
4. A-C-D-B-E

Options :

686340161105. 1
686340161106. 2
686340161107. 3
686340161108. 4

Question Number : 77 Question Id : 68634040793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafeiEd &1 SapHTaR aieyd Hifo |

A. f@oreit 9w
B. qlal 49
C. qITed g
D. T[eTH g
E. JTd 991

- feu T foweul O 9 el SR &1 994 Sifog

1. D-A-C-B-E

[ ]

. C-D-B-A-E
3. E-B-A-D-C
4. A-C-D-B-E

Options :

686340161105. 1
686340161106. 2
686340161107. 3
686340161108. 4



Question Number : 78 Question Id : 68634040794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the given states in chronological of their establishment from early to recent years:

A. Jharkhand
B. Mizoram

C. Nagaland
D. Telangana

Choose the correct answer from the options given below:

1.CDAB

| )

.B.AD.C
3.B.ACD
4. CBAD

Options :

686340161109. 1
686340161110. 2
686340161111. 3
686340161112. 4

Question Number : 78 Question Id : 68634040794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 0 It & IS WITTT & ATYR TR Jauud ¥ 30y & w0 § sraflyd Sifsmw

A HRYEUs
B. [HWIRH
C. -1 éS
D. A&
i f4u U fasedl © 9§ 981 STk &1 99 Sifelg
1.C.D.AB
2.B.AD.C
3.B.ACD
4. CBAD
Options :
686340161109. 1
686340161110. 2

686340161111. 3
686340161112. 4



Question Number : 79 Question Id : 68634040795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chronologically (early to later) arrange the events of disintegration of the Soviet Union:

A. Russian parliament declares its independence from the Soviet Union

B. Gorbachev resigns as the president of the Soviet Union

C. Independence movement begins in Lithuama.

D. Soviet Union declares that the Warsaw pact members are free to decide their own future. Berlin wall falls
in November

E. Gorbachev strips the Soviet communist party of its 72 years long monopoly on power by calling on the
Soviet parliament (Duma) to permit multi-party polities.

Choose the correct answer from the options given below
1.C.DEEAB
2.BAED.C
3.B,A,CD,E

4. CBDAE

Options :

686340161113. 1
686340161114. 2
686340161115. 3
686340161116. 4

Question Number : 79 Question Id : 68634040795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hifqad 99 & fque ot g3 &1 (3RY ¥ 3id) SIarhd ¥ oHaieyd S |

A. B4 GUg A Gifqgd 99 I /-t WdAdl &1 9iyun ol

B. TTaT<Id - Hifdud €9 & Iyufd ug 9 gdiie] faarn

C. ferysii-ar & Tad=an sr<ia- &1 Y Td g5

D. Hifaga du - gwon fear fos g T & gaw a1 yiaw qg ®3- & oy, gad €. Tarr O 9l
o1 daR fIRTE )

E. Hifqgd 99 (SYHT) P agaard Aol & YR U 72 I deb geydc USTUBR arel diaad
HRY-E ure] TMidi=a FR19d gu

- fau T fowedl O 9§ UEl SR &1 994 Sifog

1.CDEAR

[

BAEBDC
3.B,A.CDE
4. C.B.D.AE

Options :

686340161113. 1
686340161114. 2
686340161115. 3
686340161116. 4

Question Number : 80 Question Id : 68634040796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements ;
Statement I : The first British Governor-General of India was Lord William Bentick
Statement II : The First Governor-General of free India was Jawaharlal Nehru
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is correct but Statement II is false
4. Statement I is incorrect but Statement II is true
Options :
686340161117. 1
686340161118. 2

686340161119. 3
686340161120. 4



Question Number : 80 Question Id : 68634040796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sufRumue.

YT [:HRT & TYH TTG-3 O-Rd aTs (e dfed 9]

S [1:3909 YRd & WYH G-~ O-Rd SJdIedd 1% U
IRIad YA & ATclP H.Ad S0 [ddhedl § U ol IR &1 99 DIeIU:
1. BYTI AR IS 9 &

2. YT AR 11 ST 3T §
3. PYT 1A §, dfh PYUT 11 3TT §

4 PYT AT o, AP YT I I &

Options :

686340161117. 1
686340161118.2
686340161119. 3
686340161120. 4

Question Number : 81 Question Id : 68634040797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Price of the good itself does not represent a movement along the demand curve.

Statement II: Income prices of related goods. expectations and number of buyers shift the demand curve.,

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

| B

. Both Statement I and Statement II are false
3. Statement I is correct but Statement II is false

4. Statement I 15 incorrect but Statement IT 1s true

Options :

686340161121. 1
686340161122. 2
686340161123. 3



686340161124. 4

Question Number : 81 Question Id : 68634040797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR A HYTRTIUE
HYH 1:9%g D1 e TV ab & WY Wa: Dls 7Mia Y& d Tgl dal g |

U 11 HTT T 1T aegaf o1 e, aaiany 3iR el 3t Ul T o &1 RIFaRd Sl § |
IRIGd YT & ATelld HA U fawedl § 9 9g! 3R &1 994 Difelu:
1. BYA1 3R 11 ST el &

2. BYTI AR I SHI Ted &
3. PFYTI eI 8. AP YT I TTEad §
4. FYT TS, AT FUT I TR &

Options :

686340161121. 1
686340161122. 2
686340161123. 3
686340161124. 4

Question Number : 82 Question Id : 68634040798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Economists try to address their subject with a scientist's objectivity.

Statement II: Like all scientists. they make assumptions and construct simple models to understand the world
around them.

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is correct but Statement II is false

4. Statement I 15 incorrect but Statement IT is true

Options :
686340161125. 1
686340161126. 2



686340161127. 3
686340161128. 4

Question Number : 82 Question Id : 68634040798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERAICACURIIUE
HYA LRI 39 [T &1 U o=@ eIl I Hallerd &3 &1 Wad Bd o

WF%I: ot aeet @t wifa, 3 oft 3FHE @I € ST S1oe aRkaw & gHeH & U g e 3=
PIAB |
IRIad FYF & AP H.Ad S0 T [dhedl § W ol IR &1 99 DITIU:

1. B 1 SR 11 31 9el @

2. YT AR 11 S Ted &
3. YT Tel 6. AT HYF I TTad &
4. BYT 170 . AT BYT I TSI &

Options :

686340161125. 1
686340161126. 2
686340161127. 3
686340161128. 4

Question Number : 83 Question Id : 68634040799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement : I - The Indian System of Medicine includes six systems. Ayurveda, Yoga. Unani. Siddha.
Naturopathy and Homeopathy.

Statement II: The government is promoting the Indian System of medicine to solve a large part of our
healthcare problems,

In the light of the above statement. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

b2

. Both Statement I and Statement IT are false

3. Statement I is correct but Statement II is false

4, Statement [ is incorrect but Statement II 1s true



Options :

686340161129. 1
686340161130. 2
686340161131. 3
686340161132. 4

Question Number : 83 Question Id : 68634040799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERAICACURIIUE
HYT YR 3wy qoe § o faftmt emgde am oA Ris wefafafear ik et wfita g
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Options :

686340161129. 1
686340161130. 2
686340161131. 3
686340161132. 4

Question Number : 84 Question Id : 68634040800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement [ : Schooling 1s important for empowerment.

Statement IT : With help of schooling we can change our caste.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340161133. 1
686340161134. 2
686340161135.3
686340161136. 4

Question Number : 84 Question Id : 68634040800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIERA K IC AT 8

@Y - aRifadeRul g faarad! fRian smaxgs §
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1. Y IR IS A &

2. YA 3R 11 3T A ©
3. HFYT 1T B, AfbT YT 11 HTT &

4. PYTI 3T C. AfpTPYT LTI ©

Options :

686340161133. 1
686340161134. 2
686340161135. 3
686340161136. 4

Question Number : 85 Question Id : 68634040801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: The formulation of union of India comprises of

Statement I : The union territories specified in the first schedule of Part I of Indian constitution
Statement II: Other territories as may be acquired with time.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

-J

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement I1 is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
686340161137. 1
686340161138. 2

686340161139.3
686340161140. 4

Question Number : 85 Question Id : 68634040801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TP Ry
YR 9 & 7139 § T8 © -
HYA LURA WA & YT 1 B 9yH 3EYHl H fa9ued 99 7o &7 3fcafad o
HY I1: 30 Y I & i [oh S8R a9 8
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1. Y1 3R 11 ST T &

2, BYT1 AR 11 ST TId ©

3. YT I Te 6. AT HYT I TTad &
4. BYTITAd 8. AfpT HYT I Te1 &

Options :

686340161137. 1
686340161138. 2
686340161139.3
686340161140. 4



Question Number : 86 Question Id : 68634040802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In history excavation is used to collect physical remains and artifacts. Excavation may be either
Vertical or Horizontal.

Statement I1: » Vertical excavation normally covers a large area.
» Horizontal excavation is normally done in small area.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement [T are correct
2. Both Statement I and Statement II are incorrect
3. Statement [ is correct but Statement IT is incorrect
4, Statement [ is incorrect but Statement II is correct
Options :
686340161141. 1
686340161142. 2

686340161143.3
686340161144. 4

Question Number : 86 Question Id : 68634040802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161141. 1
686340161142. 2
686340161143. 3
686340161144. 4

Question Number : 87 Question Id : 68634040803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements and choose the correct option

. Geography attempts spatial synthesis

. History attempts temporal synthesis

. Geomorphology studies structures of atmosphere.

. Ecology relates with the scientific study of environment.

U we

1. A and B only

|

. D only
3. Aand D only
4. A only

Options :

686340161145. 1
686340161146. 2
686340161147. 3
686340161148. 4

Question Number : 87 Question Id : 68634040803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafead Syl @1 ufey TuT Jetl fasedl &1 997 Pifo;

A, HIITE ST HRAYUT BT Y B3l §
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1. ®ad A SR B
2. Had D
3.%dd ASRD
4990 A

Options :

686340161145. 1
686340161146. 2
686340161147. 3
686340161148. 4

Question Number : 88 Question Id : 68634040804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the features of a 'coalition’' ?
A. Inclusiveness
B. Extremist
C. More sensitive
D. Resolve 1ssues through consensus

Choose the correct answer from the options given below:

1. Aonly

| B]

. B only
3. Aand D only
4. C only

Options :

686340161149. 1
686340161150. 2
686340161151. 3
686340161152. 4



Question Number : 88 Question Id : 68634040804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofied 8 9 oF b medyT IRPR ] [A9yani g 2

A, gHferd
B. qufarat
. HfagdeTgd

D. e gRI fddie grare=
Hid 4U T fddedl § 9 Uel 3R &1 99 SioTU
1. ®ad A
2.%ad B
3.%dd ASRD
4.%Had C
Options :
686340161149. 1
686340161150. 2

686340161151. 3
686340161152. 4

Question Number : 89 Question Id : 68634040805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement hold true for casual wage labourers?

A. They account for about 25-30% of India's workforce.

B. Construction workers are casual wage labourers

C. About 27-31% of women workers are casual wage labourers

D. Loading worker in a vegetable vending shop 1s a casual wage labourer.

E. Owner of a cold drink shop which sells Pepsi. Cola and Mirinda 1s a casual wage labourer.

Choose the correct answer trom the options given below:
1. A.B.Dand E only
2. A.B. Cand D only
3.A.B and E only
4. A. B and C only
Options :
686340161153. 1

686340161154. 2
686340161155.3



686340161156. 4

Question Number : 89 Question Id : 68634040805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e Ty 3 S 19 sfafis Togd s P R T oa § -
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Options :

686340161153. 1
686340161154. 2
686340161155.3
686340161156. 4

Question Number : 90 Question Id : 68634040806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Khandhar mseription were written in seript.

A, Kharosthi

B. Greek

C. Aramaic

D. Sanskrit

E. Vedic Sanskrit

Choose the correct answer from the options given below:

1. Aonly

| ]

. B and C only
3.Cand D only
4. E only

Options :



686340161157 1
686340161158. 2
686340161159. 3
686340161160. 4

Question Number : 90 Question Id : 68634040806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HUR Aferg ferfor o fera T o |

A st
B. Hi®
c.amﬂ?;ﬁ
?%@m
=i f4u T fae et 1§ Hel SR & 99 Bt :
1.%dd A
2.%dd B3R C
3.9 C3RD
4.%qd E

Options :

686340161157. 1
686340161158. 2
686340161159. 3
686340161160. 4

Question Number : 91 Question Id : 68634040807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick the incorrect from following :

A. Arya Samaj was founded by Dayanand Saraswati

B. Indian National Congress (INC) was founded in 1885
C. The first world war began in 1914

D. Bhagat singh led the Quit India Movement in 1942
E. Gandhi-Irvin Pact was signed in 1931

Choose the correct answer from the options given below:

1. B only

3=

. C only
3. D only
4. E only

Options :

686340161161. 1
686340161162. 2
686340161163. 3
686340161164. 4

Question Number : 91 Question Id : 68634040807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad ¥ 9 el of g
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Options :

686340161161. 1

686340161162 2

686340161163. 3
686340161164. 4




Question Number : 92 Question Id : 68634040808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pick the incorrect one :

A. Nagarjun Sagar Dam - Karnataka
B. Bhakhra Nangal Dam - Punjab
C. Sardar Sarovar Dam- Gujarat

D. Hirakud Dam - Odisha

E. Tehri Dam - Uttarakhand

Choose the correct answer from the options given below:
1. D only
2. Aonly
3. C only
4. B only

Options :

686340161165. 1
686340161166. 2
686340161167. 3
686340161168. 4

Question Number : 92 Question Id : 68634040808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYG DI -
A "II‘IIK{Z"I ESIRIEY ﬁﬂ-dﬂ?{iq}
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Options :
686340161165. 1
686340161166. 2




686340161167. 3
686340161168. 4

Question Number : 93 Question Id : 68634040809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pick the incorrect from following :

A. Arya Samayj is associated with Dayanand Saraswati

B. Chipko Movement is assoiciated with Medha Patkar

C. Satya Shodhak Samaj is associated with Jyotiba Phule

D. Narmada Bachao is associated with Sunder Lal Bahuguna
E. Bramho Samaj is associated with Raja Ram Mohan Roy

Choose the correct answer from the options given below.

1. B and D only

2=

. A and C only
3.Cand E only

4. A and E only

Options :

686340161169. 1
686340161170. 2
686340161171. 3
686340161172. 4

Question Number : 93 Question Id : 68634040809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340161169. 1
686340161170. 2
686340161171. 3
686340161172. 4

Question Number : 94 Question Id : 68634040810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Slogan) LIST II (Leader Name)
A |Swara) 1s my birth right| 1. [Mahatma Gandhi
B. Pai Hind II. [Lal Bahadur Shastri
C. Va1 Jawan, Jai1 Kisan III. |Bal Gangadhar Tilak
D. Do or Dhe IV. |Subhas Chandra Bossg

Choose the correct answer from the options given below:

1. A-IV, B-II, C-III. D-I

| )

AL B-1L C-IV. D-II
3. A-L B-IV, C-I1, D-ITI
4. A-III. B-IV. C-II. D-I

Options :

686340161173. 1
686340161174. 2
686340161175.3
686340161176. 4

Question Number : 94 Question Id : 68634040810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

T 1 (TR =1 11 (ITSTa)
A e U oG fYeR g | 1 [Heren T
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C. |90 §aH o fhgH 101 [&7e 717ER fadis
D. [&d A1 |31 IV, [gHmE o= a9

=< f4u U f[d@eyl § O el 3R &1 94 BIag ;

1. A-IV, B-II. C-IIL, D-I
2. A-III, B-I. C-IV. D-II
3. A-I, B-IV, C-IL. D-III
4. A-III, B-IV, C-II, D-I

Options :

686340161173. 1

686340161174, 2

686340161175. 3
686340161176. 4

Question Number : 95 Question Id : 68634040811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A [Kuchipudi I. |Uttar Pradesh
B. |[Kathakali II. |Andhra Pradesh
C. [Bharatnatyvam | Il [Kerala
D. [Kathak IV. |[Tamil Nadu

Choose the correct answer from the options given below:

1. A-IV, B-II, C-III. D-I
2. A-IV. B-1, C-II1. D-II
3. A-IIL, B-IV. C-I1, D-1
4. A-I1, B-1I1. C-IV., D-I

Options :

686340161177. 1

686340161178. 2

686340161179. 3
686340161180. 4



Question Number : 95 Question Id : 68634040811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gl 11 9 faH Sifor

gl 1 g1
A |[pl=gst I [3TR UeH
B. [BudHdl 1. [afiy uew
C. |4Raaregy | uL [eRa
D. [FUD V. [dFa g
i fou 72 famedl § 9 TEl SR &1 99 HifulU :

1. A-IV, B-11, C-IIL. D-I

|

. A-IV, B-1, C-III. D-II
3. A-IIL B-IV. C-II. D-I
4. A-II. B-III. C-IV. D-1

Options :

686340161177. 1
686340161178. 2
686340161179. 3
686340161180. 4

Question Number : 96 Question Id : 68634040812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
Godan 1. |Rabindranath Tagore
Gora II. [Rahi Masoom Raza

Faag Darbari | IIT. [Munshi Premchand
Aadha Gaon | IV |Shrilal Shukla

o[ o]w[>

Choose the correct answer from the options given below:

1. A-TII. B-1. C-IV. D-II

| )

CA-L B-IIIL C-IT. D-IV
3. A-IIT, B-TIV. C-1. D-II
4. AL B-II. C-IV. D-I

Options :

686340161181. 1

686340161182. 2
686340161183.3



686340161184. 4

Question Number : 96 Question Id : 68634040812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 1 g 11 9 [HaH Sifey
T T 11
A e I Ris==m &R
B. [IR1 IL. RTe! {EH &l
C. RriezaR] | 1L [g=i uedg
D. [afren Tiiq IV. [giierel et

=i feu 7Y famedt 7 ¥ Hel SR &1 99 Difo -

1. A-TII. B-1. C-IV. D-II

|

AL B-1IILL C-I1. D-IV
3. A-IIL. B-IV. C-I. D-II
4. A-III, B-1II. C-IV, D-I

Options :

686340161181. 1
686340161182. 2
686340161183.3
686340161184. 4

Question Number : 97 Question Id : 68634040813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (New states) LIST II (Old states)
JTharkhand 1. |Andhra Pradesh
Chattisgarh I1. |Uttar Pradesh

Uttarakhand II1. IMadhva Pradesh
Telangana IV |Bihar

REE

Choose the correct answer from the options given below:

1. A-IV, B-1II. C-II. D-I

| )

A-TIL B-1IIL C-IV. D-I
3. A-L B-III, C-I1, D-IV
4. A-IV, B-11, C-III, D-I

Options :
686340161185. 1



686340161186. 2
686340161187. 3
686340161188. 4

Question Number : 97 Question Id : 68634040813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 g2 11 ¥ faH Sy
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A [gRdEs il ERER
B. [@diETg I [Gduew
C [3RrETs 111 [H9ed

D. [defmT V. [feBR
=< f4u U f[d@eyl § O el 3R &1 94 BIag ;

1. A-IV. B-III. C-II. D-1

| ]

AL B-1IL C-IV, D-I
3. A-L. B-1I. C-II, D-IV
4, A-IV, B-II, C-III, D-1

Options :

686340161185. 1
686340161186. 2
686340161187. 3
686340161188. 4

Question Number : 98 Question Id : 68634040814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Undemutrition due to deficiency of food and energy] 1. [Wasting
B. [Height is less than adequate for age II. [Hidden hunger
C. Micronutrient deficiencies 11T |Marasmus
D. [Weight is not adequate relative to height IV, |Stunting

Choose the correct answer from the options given below:

1. A-IIL. B-I. C-II. D-IV

[ B

AL B-IV. C-I1. D-I

3. A-IL B-IV, C-III, D-I

4. A-IIL B-IV. C-1. D-II



Options :

686340161189. 1
686340161190. 2
686340161191. 3
686340161192. 4

Question Number : 98 Question Id : 68634040814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 gl 11 e Hifse
A I 11
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B [SU @I qa1 5 ok dald 4 39 ¢ | il EERIRI
C. [t Uy s 111 [3RR-& (AeTH)
D. [e#aTs @1 ol | 99 U9 el ¢ | IV |arfamrg
i fU T fdeedl © ¥ 9ol STR &1 99 Bifoil :

1. A-IIL. B-I. C-II. D-IV

| ]

AL B-IV. C-I1. D-I
3. A-IL, B-IV, C-III. D-I
4. A-IIT, B-IV. C-1. D-II

Options :

686340161189. 1
686340161190. 2
686340161191. 3
686340161192. 4

Question Number : 99 Question Id : 68634040815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Normative 1. |Belief system that society can be improved by following certain doctrines
B. [ldeclogy II. [Someons who believes passionately in an 1deology
C. |Pragmatic IT1. [Explains what ought to be
D. [[declogus IV. [Using whatever works without theorv or ideology.

Choose the correct answer from the options given below:

1. A-IIL, B-1. C-IV. D-II

| ]

CA-TV, B-TILL C-I. DAII
3. A-L B-II. C-III, D-IV
4. A-II1, B-11, C-1. D-IV

Options :

686340161193. 1
686340161194. 2
686340161195. 3
686340161196. 4

Question Number : 99 Question Id : 68634040815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL, B-1. C-IV. D-II

ofa[w]s

| ]

CA-TV, B-TILL C-I. DAII
3. A-L, B-II. C-III, D-IV
4, A-IIL, B-1I. C-1. D-IV

Options :

686340161193. 1
686340161194. 2
686340161195. 3
686340161196. 4



Question Number : 100 Question Id : 68634040816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Travellers) LIST II (Time line)
Marco-Polo I |1304-1377
[bn-Batuta IT. |1536-1600
A fanasis Nikitich Nikstin] I1T ]1254-1323
 Antonio Monserrate IV |1466-1472

REE

Choose the correct answer from the options given below:

1.

| )

4.

A-ILL B-IV. C-II. D-1

A-L B-IL. C-III, D-IV

AL B-1L C-IV. DAII

A-TV, B-1I. C-III, D-1

Options :

686340161197. 1
686340161198. 2
686340161199. 3
686340161200. 4

Question Number : 100 Question Id : 68634040816 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A [A1®! grar 1 [1304-1377
B. gg dqar 1. [1536-1600
C. [ormardl e HidbicH] 11 |1254-1323
D. [t gigie IV, [1466-1472
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1. A-TII, B-IV. C-II. D-I

|

A-L B-II. C-III, D-IV
3. A-IIT, B-1, C-IV. D-II
4. A-IV. B-II, C-1III. D-I
Options :

686340161197. 1
686340161198. 2



686340161199. 3
686340161200. 4



